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Question 1
Question Type: MultipleChoice

Which TWO statements are NOT true regarding Block Storage Volume Resize in Oracle Cloud Infrastructure (OCI)? (Choose two.)

Options: 
A- Volume size can be either increased or decreased.

B- Volumes may not have attachments added or removed during resize.

C- Volumes may not be resized if there is a prior resize or an ongoing cloning operation

D- Volumes may only be resized if there is a backup pending.

Answer: 
A, D

Question 2
Question Type: MultipleChoice



You set up a bastion host in your VCN to only allow your IP address (140.19.2.140) to establish SSH connections to your Compute

Instances that are deployed in a private subnet. The Compute Instances have an attached Network Security Group with a Source Type:

Network Security Group (NSG), Source NSG: NSG-050504. To secure the bastion host, you added the following ingress rules to its

Network Security Group:

However, after checking the bastion host logs, you discovered that there are IP addresses other than your own that can access your

bastion host. What is the root cause of this issue? (Choose the best answer.)

Options: 
A- The port 22 provides unrestricted access to 140.19.2.140 and to other IP address.

B- A netmask of /32 allows all IP address in the 140.19.2.0 network, other than your IP 140.19.2.140

C- All compute instances associated with NSG-050504 are also able to connect to the bastion host.

D- The Security List allows access to all IP address which overrides the Network Security Group ingress rules.

Answer: 
C

Question 3
Question Type: MultipleChoice



Your deployment platform within Oracle Cloud Infrastructure (OCI) leverages a compute instance with multiple block volumes attached.

There are multiple teams that use the same compute instance and have access to these block volumes. You want to ensure that no one

accidentally deletes any of these block volumes. You have started to construct the following IAM policy but need to determine which

permissions should be used. allow group DeploymentUsers to manage volume-family where ANY { request.permission != ??>,

request.permission != ??>, request.permission != ??> } Which permissions can you use in place of ??> in this policy? (Choose the best

answer.)

Options: 
A- DELETE_VOLUME, DELETE_VOLUME_ATTACHMENT, DE-LETE_VOLUME_BACKUP

B- ERASE_VOLUME, ERASE_VOLUME_ATTACHMENT, ERASE_VOLUME_BACKUP

C- VOLUME_DELETE, VOLUME_ATTACHMENT_DELETE, VOL-UME_BACKUP_DELETE

D- VOLUME_ERASE, VOLUME_ATTACHMENT_ERASE, VOL-UME_BACKUP_ERASE

Answer: 
C

Question 4
Question Type: MultipleChoice



You are asked to implement the disaster recovery (DR) and business continuity requirements for Oracle Cloud Infrastructure (OCI) Block

Volumes. Two OCI regions being used: a primary/source region and a DR/destination region. The requirements are: There should be a

copy of data in the destination region to use if a region-wide disaster occurs in the source region Minimize costs Which design will help

you meet these requirements? (Choose the best answer.)

Options: 
A- Clone block volumes. Use Object Storage lifecycle management to automatically move clone objects to Archive Storage. Copy

Archive Storage buckets from source region to destination at regular intervals.

B- Clone block volumes. Copy block volume clones from source region to destination region at regular intervals.

C- Back up block volumes. Copy block volume backups from source region to destination region at regular intervals.

D- Back up block volumes. Use Object Storage lifecycle management to automatically move backup objects to Archive Storage. Copy

Archive Storage buckets from source region to destination at regular intervals.

Answer: 
D

Question 5
Question Type: MultipleChoice



What is a key benefit of using Oracle Cloud Infrastructure Resource Manager for your Terraform provisioning and management

activities? (Choose the best answer.)

Options: 
A- You can use Resource Manager to apply patches to all existing Oracle Linux interfaces in a specified compartment.

B- You can use Resource Manager to identify and maintain an inventory of all Compute and Database instances across your tenancy.

C- Resource Manager has administrative privileges by design. Even if your IAM user does not have access, you can leverage Resource

Manager to provision new resources to any compartment in the Tenancy.

D- Resource Manager manages to Terraform state file for your infrastructure and locks the file so that only one job at a time can run on a

given stack.

Answer: 
D

Question 6
Question Type: MultipleChoice



Which technique does NOT help you get the optimal performance out of the Oracle Cloud Infrastructure (OCI) File Storage service?

(Choose the best answer.)

Options: 
A- Increase concurrency by using multiple threads, multiple clients, and multiple mount targets.

B- Right size compute instances from where file system is accessed based on their network capacity.

C- Limit access to the same Availability Domain (AD) as the File Storage service where possible.

D- Serialize operations to the file system to access consecutive blocks as much as possible.

Answer: 
D

Question 7
Question Type: MultipleChoice

Several development teams in your company have each been provided with a budget and a dedicated compartment to be used for

testing purpose u are asked to help them to control the costs and avoid any overspending. What should you do?



Options: 
A- Contact Oracle support and ask them to associate the monthly budget with the Service Limits In every region for which your tenancy

is subscribed. The tenancy administrator will receive an alert email from Oracle when the limit Is reached.

B- Configure a Quota for each compartment to prevent provisioning of any bare metal in-stances.

C- Associate a Budget Tag to each resource with monthly budget amount and use that In-formation to prepare a weekly report to send to

each team.

D- Associate a Budget Tag to each compartment with the monthly budget amount and set an alert rule to notify the developers' teams

when they reached a specific percentage of the budget.

Answer: 
D

Question 8
Question Type: MultipleChoice

Your company hosts a web application on OCI using compute instances and block volumes. To minimize your recovery point objective

(RPO), you enable cross-region block volume replication for the block volumes. Which option is true regarding cross-region volume

replication?



Options: 
A- The replica cannot be directly mounted on a compute instance. Instead, it must be activated, creating a clone that will be available for

mounting.

B- Replication is synchronous, so it may slightly degrade block volume performance.

C- The cost of the replica matches the cost of the source volume; for example, the replica of a high-performance volume will be billed at

the high-performance rate.

D- Replication replaces the need for block volume backups.

Answer: 
A
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